(B)
(5
IMPORTANT INFORMATION ASSEMBLEY INSTRUCTIONS.
+THE BBQ GRILL SHOULD ALWAYS BE PLACED ON x ASSEMBLE THE HANDLE BRACKETS TO THE GRILL
A STABLESURFACE. COVER (3) USING #B M5x8 BOLT AND NUT.
*DO NOT MOVE THE GRILL WHEN HOT. * ASSEMBLE THE GRILL LEGS (5) TO THE BODY OF

*DO NOT SPRAY LIGHTER FLUID ON THE GRILL WHEN HOT
*KEEP OUT OF THE REACH OF CHILDREN.
* THIS GRILL IS FOR OUTDOOR USE ONLY.

THE GRILL (4) USING #A M5X30 BOLT AND NUT.

LIGHTNING INSTRUCTIONS. PARTS LIST QUANTITY

*PLACE A LAYER OF CHARCOAL ON THE CHARCLAL #1 COOKING GRILL 2PCS
GRATES,FOR QUICKER FIRE USE LIGHTER CUBES #2 CHARCOAL GRILL 2PCS
OR LIGHTER FLUID, THE USE AGRILL LIGHTER OR

LONG STEM MATCH TO LIGHT THE GRILL, WHEN THE #3 COVER 1PC
COALS REACH A GRAY COLOR, THEY ARE RBAUY FOR #4 BODY 1PC
COOKING, ADD CHARCOAL TO THE FIRE AS NEEDED
* ALLOW THE GRILL TO COOL BEFORE EXTINGUSHING #5 LEG 2PCS
TEEET;E.NAKE SURE THAT THE COALS ARE #6 HANDLE 1hc
*
EXTINGUSHED COMPLETELY. #7 WIRE HOOK 1PC
*DO NOT LEAVE HOT COALS ON THE GROUND OR #A BOLT (M5X30) 6PCS
EXPOSED TO OTHER CONBUSTIBLE NATERIALS.

#B BOLT (M5X8) 2PCS

#C NUT (M5) 8PCS



	Sheet1

